www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

(© Kaiser & Kilhne Freizeitgerate D-27324 Eystrup

K & K Installation

Water dispenser assembly

In any case, we strongly recommend fo install a fine filter (e.g. K&K item no. 3990039) to

prevent dirt from affecting the function of the water dispenser or even from ifs failure.

Installation and connection of the water pipes have fo be carried out by a3 suitably
qualified plumber. Prior to assembly, the water pipes must thoroughly be rinsed.

>

>

Assign a location for the water dispenser considering the space requirements

(see attached drawing)

Install the pipes which lead fo fhe wafer dispenser. Keep in mind to facilitate
dewatering for the winter seasaon.

Prepare a suitable fastening for the water dispenser using i.e.:

Fischer threaded bolt RGM 12x160 AL togefther with Fischer mortar carfridge RM 12
(K&K items no. 3420038 and 3420039)

Thoroughly rinse the water pipes and connect them to the water dispenser (3/4in
external thread). Fasten the water pipe afterwards.

Check function of water dispenser by pushing the piezo-butfton. If necessary, adjust
the flow duration according fo individual requirements.

Winfter season storage

Due fo the risk of frost damage during the winter season, the water dispenser must
definitely be dismounted, dewatered and stored. Dewatering is insufficient! A safe
operation is only possible down fo +5°C. Lower temperaftures will desfroy the solenoid
valve.

In order to cover the mounting plate for the water supply pipe during the winter season, the
delivery includes a cover plate made of stainless steel fogether with the corresponding M12
cap nuts

Item-No. Description Scale Date

Installation 0-33119-003 K&K Water dispenser 1:20  04/15EB

Page

1




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

Fasfening in foundation on sife:

e  Fischer® threaded bolt RGM 12x160 AL
e  Fischer® resin capsule RM 12

e  washer DIN 125-®13-A2 (see below)

[ J

= hexagon cap nut DIN 986-M12-A2 (see below)
play level
Please provide sufficient reserve of
wafer supply I——"""flexible pipe f de)-installati
3/4in external thread |‘| exible pipe for easy (de)-installation
_ !
2 i

\\\\

supply pipe for direct
connecfion 3/4" to pressurized water
supply (=2 1/2")

Necessarily lubricate every screw connecfion by using fhe metal paste included in delivery.

Hints for a dispenser disassembly
during winter season:

anchoring on sife

1. Dismantle dispenser fram mounting

flange and sfore gaskef. Ly

. . : _ washer DIN 125-913-A2
from dirf e.g. by covering with plastic

2. Protect supply pipe in mounting plate ¢
foil, cleth or cover cap.

gasket ¢ AOXS—/O

3. Attach winfer cover and fighten if

hexagon cap nut DIN 986-M12-A2

with hexagon cap nuts DIN 986-M12-A2.
& P Q winter caver
mounting plate/ supply pipe 3/L4in
. Item-No. Description Scale Date Page
Installation 0-33119-003 K&K Water dispenser 1:20 04/15EB 2




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

Water dispenser assembly

In any case, we strongly recommend fo install a fine filter (e.g. K&K item no. 3990039) to
prevent dirt from affecting the function of the water dispenser or even from its failure.
Installation and connection of the water pipes have to be carried out by a suitably qualified
plumBer. Prior fo assembly, the water pipes must thoroughly be rinsed.

» Assign a location for the water dispenser considering the space requirements
(see attached drawing)

> Install the pipes which lead to the water dispenser. Keep in mind to facilitafe
dewatering for fhe winfer seasaon.

» Excavafe soil for the foundation according fo drawing, insert flange pipe flush with play
level and align it with a3 spirit level. Grout foundation with compressed concrefe (20/25
according to drawing, chamfer and round of f the edges (see EN 1176-1) and await curing
process.

After concrete foundation has set:

> Thoroughly rinse the water pipes and connect them to the water dispenser (3/4in
external thread). Afferwards fasten the water dispenser with its mounting plate and
the gaskef ring fo the flange pipe

» (heck function of water dispenser by pushing the piezo-butfon. If necessary, adjust
the flow duration according fo individual requirements.
(Adjustment of the flow duration required see description below)

Winfter season storaqe

Due fo the risk of frost damage during the winter season, the water dispenser must
definitely be dismounted, dewatered and stored. Dewatering is insufficient! A safe
operation is only possible down fo +5°C. Lower temperaftures will desfroy the solenaid
valve.

In order fo cover the flange pipe during the winter seasan, the delivery includes a caver
plate made of stainless steel fogether with the corresponding M12 screws

Iltem-No. Description Scale Date

Installation 0-33119-003 K&K Water dispenser 1:20  04/15EB
with 1040065 with flange pipe

Page

3




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

wafer supply connection

E; (3/4" external screw thread)
_|play level
Please provide enough length of flexible
2 H/4I/ pipe for an easy (de)-installation

0,80

yau
|
RS
:_(1 \\J] | flange pipe
concrete foundation (C20/25)
\\ dimensions 0,50 x 0,50 x 0,50 m
™

supply pipe for direct
connecfion 3/4" to pressurized water
supply (=2 1/2")

Necessarily lubricate every screw connecfion by using the metal paste enclosed fo delivery.

Hints for 3 dispenser removal during winter season

1. Dismantle dispenser from flange pipe and
store screws and gaskef ring.

2. Protect supply pipe of mounting plafe
from dirft e.q. By cavering with plastic fail,
employ cloth or caver cap.

Lx
oval head security bolf
M12x40-A2 (PIN Hex)

3. Fasten winter cover plafte according to washer DIN 125-13-A2
drawing. : _ Ly
_/’ 0’ hexagon sackef counfersunk
gasket ¢ 40x5 oval head screw M12x20-A2
winfer plate

mounting plate for water supply

connecfion 3/4"

flange pipe

. Item-No. Description Scale Date Page
Installation 0-33119-003 K&K Water dispenser 1:20 04/15EB 4

with 1040065 with flange pipe




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

Water dispenser assembly

In any case, we strongly recommend to install a fine filter (e.q. K&K item no. 3990039) to
prevent dirt from affecting fhe funcfion of the water dispenser or even from ifs failure.
Installation and connection of the water pipes have fo be carried out by a suitably qualified
plumber. Prior fo assembly, the water pipes must thoroughly be rinsed.

» Assign a location for the water dispenser considering the space requirements
(see attached drawing)

> Install the pipes which lead fto the water dispenser. Keep in mind fo facilitate
dewatering for the winfter seasaon.

> Thoroughly rinse the water pipes and connect them to the water dispenser (3/4in
external thread). Afterwards fasten the water dispenser to the prefabricated
foundation.

» Check function of water dispenser by pushing the piezo-bufton. If necessary, adjust the
flow duration according fo individual requirements.
(Adjustment of the flow duration required see description below)

Winter season storage

Due fo the risk of frost damage during the winter season, the wafer dispenser must
definitely be dismounted, dewafered and stored. Dewatering is insufficient! A safe
operation is only possible down fo +5°C. Lower temperafures will desfroy the solenaid
valve.

In order to cover the mounting plate for water supply during the winter seasaon, the
delivery includes a cover plate made of sfainless steel fogefther with the corresponding M12
screws

Iltem-No. Description Scale Date

Installation 0-33119-003 K&K Water dispenser 1:20  04/15EB

with 1040173  with ring-shaped foundation

Page
5




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

wafer supply connection

E‘_- (3/4" external screw thread)
_|play level
I
®0,76
H Please provide enough length of flexible
o \ pipe far an easy (de)-installation

supply pipe for direct
connection 3/4" to pressurized water
supply (= 1/27)

Necessarily lubricate every screw connecfion by using the metal pasfe enclosed fo delivery.

Hints for a dispenser removal during winfer season

1. Dismantle stainless steel sheet from
pre-fabricated foundation.

Lx
mushroom head screw
DIN603-M12x60-A2

2. Dismantle dispenser from stainless steel
sheef, store screws and gaskef ring.

3. Profect supply pipe of mounfing plate from

dirt e.q. by covering with plasftic foil, T bx

hexagon sockef counfersunk

oval head screw M12x20-A2
L. Fasten winfer cover plate and mounting

plate to stainless steel sheef, _—c
gaskef ring ® 4L0x5

emplay clath or cover cap.

winter plafe
5. Fix stainless steel sheef with moun’ring plate for water supply
pre-fabricated foundation. connection 3/4"
ring-shaped foundation
. washer DIN125-913-A2;
. safety nut DIN985-M12-A2
. Item-No. Description Scale Date Page
Installation 0-33119-003 K&K Water dispenser 1:20 04/15EB 6

with 1040173  with ring-shaped foundation




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

Insertion/Exchange of the battery

The average life span of the battery installed (6V/1,4AR/7,8Wh; K&K
Art.-Nr. 3990119) is approx. four years, depending on user frequency and
ambient temperature. For replacement, directly contact Kaiser & Kuhne
Freizeitgerate GmbH. The replacement takes place as follows:

1. Remave the three safefy screws from the fronft panel by using the
hexagon key provided.

2. Take ouf fthe front panel including flexible pipe, confroller module and
battery.

3 ’9.

&

g

front panel with aerator

" theft-proaf screw M8x20-A2

Y i/
TORX wrench TR8

3. Remove fthe cable fie from the baftery.

L. Replace the baffery by remaving the connector.
Attention: Respect correct polarity when inserting the new baffery!
Align colour marks on the connectors. Ensure absoclute connector
dryness to avoid functional disorder.

5. Fasten the new battery by means of a new cable tie.
6. Re-install the front panel with the three safefy screws.

primary bafttery 6V

confroller module with indicator LED

Iltem-No. Description Scale

Installation 0-33119-003 K&K Water dispenser 1:20

Date

04/15 EB

Page
7




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

Fault

possible cause:

Remedy

No water flow after pushing the
Piezo bufton

Water supply is not quaranteed

Check water supply pipes/water
intake, open shut-offs

Battery low

Replace battery
(K&K Item No. 3990119)

Pollution prevents solenoid valve
from opening

Clean solenoid valve, install fine
filter

Contact fault: plug-in connection
damaged or disconnected

check plug-in connections,
respect colour marks; contact
pins must not be bent; dry
connectors before connecting

Defective Piezo button

Replace Piezo button
(K&K Item No. 3990117)

Defective solencid valve

Replace solenaid valve
(K&K Item No. 3990118)

Installation

Iltem-No.

0-33119-003

Description

K&K Water dispenser

Scale

1:20

Date Page

04/15 EB 8




www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

Fault

possible cause:

Remedy

Solencid valve does not shut off

Defective controller module

With everything else ck, replace
controller module (K&K Item No.
3990120)

Dripping dispenser or constant
water flow

Pollution prevents solenoid valve
from opening

Clean solenoid valve, install fine
filter

Independant water dispenser
activity

Defective or polluted solenaid
valve

Clean solenoid valve, install fine
filter; replace solenoid valve

Moisture in Piezo button plug-in
connection

Dry plug-in connection, use a
profective sleeve

Defective Piezo button

Replace Piezo button
(K&K Item No. 3990117)

Installation

Iltem-No.

0-33119-003

Description

K&K Water dispenser

Scale Date

1:20 04/15 EB

Page

9




2021/01/08

K&K Water dispenser item no. 033119003
Programming runtime of waterflow and sanitation wash-up

1. Changing the factory setting: Programming runtime of waterflow

« The settings for the runtime of waterflow are made only via the piezo button.

« Settings are only possible within 15 minutes after interruption and restoration of
the power supply (battery).

« This means: The battery cable connection must be disconnected and reconnected
before programming!

1.1 Disconnecting the power supply:

 Remove the 3 safety screws from the front panel by
using TORX key provided.

+ Take out the front panel including flexible pipe, con-
troller module and battery.

C
-

e + Diconnect the cable tie between
; the battery and the controller
module

 Waitamoment

 Reconnect cable between batte-
controller ry and control module

module

° 1
battery Ensure connector dryness.

« Align colour marks on the con-
nectors!

Kaiser & Kiihne Freizeitgerate GmbH . ° Y \, +49 4254 93150 Page
Im Stidloh 5 - 27324 Eystrup ‘ Kaiser & Kuhne = info@kaiser-kuehne.com 10



2021/01/08

K&K Water dispenser item no. 033119003
Programming runtime of waterflow and sanitation wash-up

1.2 NOW: Make settings for runtime of waterflow (within the next 15 minutes)

Piezo button: + Waterruns2x! + Wait5seconds + Waterruns 1sec!
+ Press 4x briefly
A
| 7 \
[ !
|
| _>
o 5 sec.
- @
.
Piezo button: Water runs cons- After reaching the Setting runtime of
« Press5xbriefly |tantly desired runtime: waterflow is now
+ Now observe » Press Piezo but- |finished.
runtime! ton 1x briefly! « Number of se-
TN conds = runtime.
N - a « Maximum run-
> | > | A time: 180 sec.
> @ | min.
: > o (3 min.)
Alternative illustration: Make settings of runtime
TEC3 progfamming runtime of waterflow For safety reasons the programming of waterflow is possible only 15 min after short
e.g. runtime about 45 secs <—» =05 to 2 secs. interrupting powersupply or battery. Signal of starting programming mode: LED flashes
red
power ON 5secs. 4 times within 6 secs. 5 secs. 5 times within B secs. wait45 secs. 1 time 0.1 to 0.5 sec
[ T ‘ T i | R (in any order up to 3 mins.)
osh | B RN I BAR LI h
VALVE opens after
5 secs one time \
VALVE about 1 sec. runtime waterflow
LED Jlllllll iiil A B T s wmeon
LED flashs red LED blinks 5 times green LED red

Kaiser & Kiihne Freizeitgerate GmbH . \, +49 4254 93150 Page

] o0
Im Stidloh 5 - 27324 Eystrup Kaiser & Kuhne = info@kaiser-kuehne.com 11



K&K Water dispenser item no. 033119003
Programming runtime of waterflow and sanitation wash-up

2. Changing the factory setting: Programming time intervals of sanitation
wash-up
(Flushing rhythm)

« Thesettings for the time intervals of sanitation wash-up are made only via the piezo
button.

« Settings are only possible within 15 minutes after interruption and restoration of

the power supply (battery).
« This means: The battery cable connection must be disconnected and reconnected

before programming!

Disconnecting the power supply: see section 1.1

2.1 Make settings for the time intervals of sanitation wash-up
(within the next 15 minutes)

2021/01/08

Possible settings: sanitation wash-up

« Sanitation wash-up , OFF*

+ Flushing rhythm: 12 h (factory setting)
* Flushingrhythm:24 h

* Flushingrhythm:72 h

2.2 Sanitation wash-up ,,OFF*"

Piezo button: « Waterruns 3 x!  Wait5sec.
+ Press 6x briefly
©
/ /’/ \\_/\
P —p 5sec. —>

->@ /

« Waterruns1sec! Piezo button: « Waterruns3x!
+ Press 6x briefly

—> —> | —>
|
« Water runsimmediately | Piezo button: « To confirm water runs
1sec! « Press 1x briefly Ix!
— —b —

>0 |

Kaiser & Kiihne Freizeitgerite GmbH R +49 4254 93150 Page

] o0
Im Sudloh 5 - 27324 Eystrup Kalsel’ & KUhne ® info@kaiser-kuehne.com 12



2021/01/08

K&K Water dispenser item no. 033119003

Programming runtime of waterflow and sanitation wash-up

Alternative illustration: Setting of sanitation wash-up ,,OFF“:

Beispiel Hyg. Spiilung ,, AUS“

Wird nach 3 Durchgéngen keine Einstellung
gewihlt, erfolgt Abbruch ohne Anderung

Spannung | | | [ N - A
EIN I Piezotaster I I I [ Piszotaster 1 1% I g I
1 I 6x innerhalb 1 1 " [ : = RS- (=
1 1 6 Sek.betatigen 1 1 LEDbInkES%: 5 1&g Oxinnerhalb 6 Sek. | % éu_gu 2121
1 25ek. | 1 1 [ betétigen 12 3 ‘é |
1 2 Sek 5 Sek i U 6 Sek | 2 5eky 5 Sek s L E el o R
r < K T T T T T2 22T T T T 2R T T T T T 2T T T T A
1 1 I [ T B T B T T T T Y SO RO Y A B B
1 1 1 [ T T B B T I T T T T O O N Y SO RO R A B B |
Piezotaster ! I | 1 | 1 1 | 1 1 1 1 1 1 1 1 (] | | 1 1 1 I [} 1 1
1 1 1 1 [ T N [ o
1 i 1 i [ R N B | [ (]
f T T T T I T T T
1 1 1 [ T T R T B I T T T T O (O Y SO SO Y A B N B
i ! 1 1 [ T T R R | I T T T T T O O T Y S SO Y A B R B
Magnetventil | : ; — bl b | | T T R Ry S Ry S R —" R |
1 1 1 | BB | 1 [ I B O B | 1 [
L L L P L I SR s | - P
1 | 1 [ T | [ T T T T T T R N S U A R B
LED- Status ! [ N R N R R [ GRS I | I R —1
ol o g3l . . . .. vrom
L L I B B E B
LED griin LED rot LED griin

The setting of sanitation wash-up ,,OFF* is now finished.

Kaiser & Kiihne Freizeitgerate GmbH .

R +49 4254 93150

[ (L]
Im Sudloh 5 - 27324 Eystrup Ka iIser & Ku h ne = info@kaiser-kuehne.com

Page
13




2021/01/08

K&K Water dispenser item no. 033119003
Programming runtime of waterflow and sanitation wash-up

2.3 Sanitation wash-up ,,112 h*

Piezo button: « Waterruns3x! + Wait5sec.
+ Press 6x briefly

— Ssec

« Waterruns1sec! Piezo button: « Waterruns3x!
+ Press 6x briefly

« Water runsimmediately |- Wait until Wasser runs Piezo button:
1sec! 2x + Press 1x briefly

» » » ‘: |
-> o
« To confirm water runs
2x!
»
Alternative illustration: Setting of sanitation wash-up ,12 h*:
TEC3 (de)activation of sanitation wash-up modes: OFF /12 hs / 24 hs / 72 hs (factory setting 12 hs)
e.g. sanitation wash-up ON after 12 hs For safety reasons the programming of waterflow is possible only 15 min after short

interrupting powersupply or battery. Signal of starting programming mode: LED flashes red

power ON 5 secs. 6 times within 10 secs. 5 secs. 6 times within 10 secs. Starts self-acting and reapeats maximum 1time 0.1to 0.5 sec
. | P> > - A G—Piﬂ—h—‘(—)ﬁﬂ 3 times if no activation is given.

i I i l ' I l i . l l Without push the old setting will be kept. l
push | EmEESEEERE  @©EHSSE8 .

| ‘ ‘ VALVE opens after ‘ ‘ |

5 secs one time \
VALVE ‘ ‘ about 1 sec. | ‘
OFF 12h 24h 72h OFF 12h cuntrol OFF
SO 1] ITITH . I,,JJI i1 n

LED flashs red LED blinks 5 times green LED red

The setting of sanitation wash-up ,,12 h* is now finished.

Kaiser & Kiihne Freizeitgerite GmbH R +49 4254 93150

[ (L]
Im Sudloh 5 - 27324 Eystrup Ka iIser & Ku h ne = info@kaiser-kuehne.com

Page
14




2021/01/08

K&K Water dispenser item no. 033119003
Programming runtime of waterflow and sanitation wash-up

2.4 Sanitation wash-up ,,24 h*

Piezo button: « Waterruns3x! + Wait5sec
* Press 6x
A
' o
/ /,’ -
| / — 5 sec.
->@ /
« Waterruns1sec! Piezo button: « Waterruns3x!

+ Press 6x briefly

e |

« Water runsimmediately |- Waituntilwaterruns5x |Piezo button:
1sec! + Press 1x briefly

- -
>

—>

« To confirm water runs
3x!

Alternative illustration: Setting of sanitation wash-up ,,24 h*:

TEC3 (de)activation of sanitation wash-up modes: OFF /12 hs / 24 hs / 72 hs (factory setting 12 hs)

e.g. sanitation wash-up ON after 12 hs For safety reasons the programming of waterflow is possible only 15 min after short
interrupting powersupply or battery. Signal of starting programming mode: LED flashes red

power ON 5 secs. 6 times within 10 secs. 5 secs. 6 times within 10 secs. Starts self-acting and reapeats maximum 1time0.1to 0.5 sec

. ‘ﬂﬂd—bi—bd—ki‘ — i—bd—b-i—PH(—P 3 times if no activation is given.

i l l l l Without push the old setting will be kept. .
push || I | - ‘ ‘

VALVE opens after ‘
5secs one time
about 1 sec. | |
VALVE ‘ - B | | ]
OFF 12h 24h 72h OFF  12h 24h | control OFF
o _ NI iiii I " T O O TN
LED flashs red LED blinks 5 times green LED red

The setting of sanitation wash-up ,,24 h" is now finished.

Kaiser & Kiihne Freizeitgerite GmbH R +49 4254 93150 Page

] o0
Im Sudloh 5 - 27324 Eystrup Kalsel’ & KUhne ® info@kaiser-kuehne.com 15



2021/01/08

K&K Water dispenser item no. 033119003
Programming runtime of waterflow and sanitation wash-up

2.5 Sanitation wash-up ,,72 h*

Piezo button: « Waterruns3x! + Wait5sec
+ Press 6x briefly

— Ssec

*@ /

« Waterruns1sec! Piezo button: « Waterruns3x!
+ Press 6x briefly

>

+ Wasser runs immediately |+ Wait until water runs 9x | Piezo button:
1sec! + Press 1x briefly

N
N\ T

—>

« To confirm water runs
4x!

Alternative illustration: Setting of sanitation wash-up ,,72 h*:

TEC3 (de)activation of sanitation wash-up modes: OFF /12 hs / 24 hs / 72 hs (factory setting 12 hs)

e.g. sanitation wash-up ON after 12 hs For safety reasons the programming of waterflow is possible only 15 min after short
interrupting powersupply or battery. Signal of starting programming mode: LED flashes red

power ON 5 secs. 6 times within 10 secs. 6 times within 10 secs. Starts self-acting and reapeats maximum 1 time 0.1to 0.5 sec
< | <—><—M—P<—><—> 3 times if no activation is given.
i i i l ' l i l l l Without push the old setting will be kept.
push | | H l ,,,,,,,, lf
‘ 'VALVE opens after ‘ ‘ |
5 secs one time \ |
VALVE ‘ ‘ about 1sec. | ‘
DFF 12 24h 72h OFF 12h 24h 72h contrul OFF
SO || ]| I— NN IJ I,JJI I 0o e
LED flashs red LED blinks 5 times green LED red

The setting of sanitation wash-up ,,72 h* is now finished.

Kaiser & Kiihne Freizeitgerate GmbH . ° Y \, +49 4254 93150 Page
Im Sudloh 5 - 27324 Eystrup Kalsel’ & KUhne ® info@kaiser-kuehne.com 16




